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�X19W �� X17W �g��1 � �d���� �� ,αy0 = 2c-�� �RC

−x′x′′[α(y2
0 − y2)− 2c(y0 − y)]− x′2(−αy + c)− g = −αy + c =⇒

−x′x′′[α(y2
0 − y2)− 2c(y0 − y)]− (1 + x′2)(−αy + c) = g =⇒

− d

dy
{(1 + x′2)[α(y2

0 − y2)− 2c(y0 − y)]} = 2g X20W

��



��%.# ����� 
��:)��D��� ��

(1 + x′2)[α(y2
0 − y2)− 2c(y0 − y)] = 2g(y0 − y) =⇒

(1 + x′2)(αy + αy0 − 2c) = 2g X21W

�αy0 = 2c �
��o:�S �� �&������

y(1 + x′2) =
2g

α
=

2gT 2

π2
X22W


����(# �
� �J��S ,� 
�.# -�� � � ZA�O �G
�> � � � � ' `0# �G2 $� �� -�� 
5�+ 6�F� ��
x~3� -�� ��$��+ �.*Y*# G�0���R
�

x(β) =
gT 2

π2
(β + sin β)

y(β) =
gT 2

π2
(1− cos β) X23W

,��*� �(S��# ~4� �� ������.# ���'`0# �
� �.<
��� 
�/��� ����# �� ����� �!�HAk� 
���


�����

�
�����F% $� .	
 $� 6�#$�
���� ��� 
�'`0# �G2���� ��*+�� 1 ���/# �
� 
���� �)�V# ~1�
,-�� ��% ��7�: 6�	
 
�'�# �.F
�P

,-�� .����� 6���
 �� d0�*# 
��� �^1� �� 6�#$ �
���� ��� 
�'`0# �G2 1 ��k ~2�

[3] W. E. Boyce & R. C. DiPrima; “Elementary differential equations and boundary

value problems”, fifth edition (John Wiley and Sons Inc., 1992).

[4] S. Chandrasekhar; “The problem of the brachistochrone” in “Newton’s Principia

for the common reader”, (Oxford University Press, 1996) 571–578.

�	


